
10 1

100

101

102

103

104
d

/d
m

H
H

[p
b/

G
eV

] CMSSimulation 138 fb 1 (13 TeV)

X/MX = 5%
Rint = -0.1

full

res

nonres

400 600 800 1000
mHH [GeV]

0

2

4

fu
ll

/(
re

s
+

no
re

s)
MX = 280.0 GeV, sin = 0.29, HHX = 456.08 GeV, k = 1.0

10 1

100

101

102

103

104

d
/d

m
H

H
[p

b/
G

eV
] CMSSimulation 138 fb 1 (13 TeV)

X/MX = 5%
Rint = 0.1

full

res

nonres

400 600 800 1000
mHH [GeV]

0

5

10

fu
ll

/(
re

s
+

no
re

s)

MX = 280.0 GeV, sin = 0.29, HHX = 456.29 GeV, k = 1.0

10 1

100

101

102

103

d
/d

m
H

H
[p

b/
G

eV
] CMSSimulation 138 fb 1 (13 TeV)

X/MX = 5%
Rint = -0.2

full

res

nonres

400 600 800 1000
mHH [GeV]

0.0

2.5

5.0

fu
ll

/(
re

s
+

no
re

s)

MX = 280.0 GeV, sin = 0.14, HHX = 463.05 GeV, k = 1.0

10 1

100

101

102

103

d
/d

m
H

H
[p

b/
G

eV
] CMSSimulation 138 fb 1 (13 TeV)

X/MX = 5%
Rint = 0.2

full

res

nonres

400 600 800 1000
mHH [GeV]

0.0

2.5

5.0

fu
ll

/(
re

s
+

no
re

s)
MX = 280.0 GeV, sin = 0.14, HHX = 462.96 GeV, k = 1.0


